77

AU

BT =h)LT—% / Technical Datall

#E{ThJLY / Recommended torque: 0.3N*m ~ 0.6N-m

¥ERLINZ / Components
No. 2% / Part name ¥E / Pcs #E / Material - REANE / Color-Finish
: a—+—Javy 4 TILEF A Fv A ADC12 DIN—, TSvy - EE (RERELE)
Corner block Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
) R ) TILEHRH# A6063S-T5 DW=, TSV TILIANY )T EE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. IL—L . TILEHRL# A6063S-T5 DIWIR— TSV TILIANY )T EE
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
4 AT ) TILSHR A1100P DIN—  TZY- TR
Panel Aluminium A1100P Silver , Black*Anodized
5 H— ! TILSHR A1100P DIN—  TZY- TR
Top cover Aluminium A1100P Silver , Black*Anodized
6 TH— ! TILSHR A1100P DIN—, TZY- TR
Bottom cover Aluminium A1100P Silver , Black*Anodized
JLE TPE (T3RK) 7399
; Ruber feet 4 TPE (Elastomer) Black
TILZR FILT & IYard L DIWIN— TS99 FILIA+ & TS5VY
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
8 HR{FE R (M3 x 8) " # 2R
Screw (Flat head M3 - 8) Steel Nickel plated
°) 9 BR{FTER (M3 x 5) 8 % ZuirLAvE | ZlREIAA—k
Screw (Trapezoid head M3 — 5) Steel Nickel plated , Black trivalent chromate
10 IFER (/N12FEM4 x 8) . # =ffiRonA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
Y
8
&

A view
N
C view
)
%
S
®!
F view
N
FIFE / Product Number
HT & Wik DFi& BR/A ERP/H B
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type

RBAL4E / Feet specification

L HE R4L#, / Original trapezoid head screw specification

4 o L]
030 10 30 12
‘ ®
T X
= 6 10
IEl L / Rubber feet 7 ILZRE / Aluminium feet El 75X / Phillips 7<f3 / Hexagon-socket @
¥ FILIRDBIITHNA—LRBELYFET,
3 Color of aluminum feet will be the same as bottom cover color.
fnda/Title
f1L#% / Color Type TAKACHI| %RXS#3HhFEHIE FILSH Y Hr—R () G
E8& / Code 3—+—78v% / Corner block {84 / Frame JNAIL / Panel $H/3— / Top cover TFH/8— / Bottom cover TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE s
Ss 2 JLIN— / Silver S JLIN— / Silver U LN— / Silver | TJLsN— / Silver 2 JLIN— / Silver 7&ZB/Approved | #R[E/Checked #IX]/Created | Z%Z/Product number =/ seale
S B 7\7\‘/’) / Black ‘{)b/ \— / Silver < )LsN— / Silver < JLsN— / Silver *{)b/ \— / Silver iR ¥ A AU177-25-16 1 00-00100 _—
B S 759% / Black 759% / Black < )LsN— / Silver 75979 / Black 7594 / Black N—2/Page
B B 73597 / Black 7397 / Black 7397 / Black 75vY / Black 7397 / Black {ERL B /Date 2024/09/25 177

AREDEIEIIHRXSHINTFEMITEITIZEBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




°]

o]

113

203

D view

177+0.5

E view

[ ) o
o}
@ o
A view
250+0.5

!<—A

l— ©

F view
[ ] o
o o
o o
[ [ )

A-A(1:35) C-C(1:35)
o] o
Lo ~
Lo, .,
146 242
C view B view
160x0.5
—_— —_— "~
—— = ———————}
a4/ Title A —
TAKACHI| #HARHIHFEHIE FILIHySr—R O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
KR/ Approved 18X /Checked & /Created B F /Product number RE/Scale
1:3.5
g ¥ A AU177-25-16101-0101 —
N— /Page
YERH /Date 2024/05/16 2 /1

AREDZBEEIMRASHINFEHTEICRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {Bl#® / C Frame 110 225

™
(s
@
™
~
R 2
3
@
™
=]
[ap)
<
R %
5 5
2-M3FH SR
M / Front side 2-M3 Countersunk ZEH / Back side
¥ RxtmE+ [k / Same on the other side.
D {8I#% / D Frame
")
p
o o N
ZME / Front side B2 =g E M / Back side
mn4/Title A —
= A ==
TAKACHI| #t2itahFEMT S B4R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 3%/ Approved t&X/Checked #I[X]/Created FIE /Product number RE/Scale
1:3
iR 3 GES —
H177 - D160 YERL B /Date 2024/05/15 3 /1
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




22.5

200

2-M3FH37%
2-M3 Countersunk

o———

14

6.8

45

29

1.6

ET47K / Total 4 pieces

a4/ Title
TAKACHI| HASHINFEKIE IL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:1
iR : B e
W250 1ERK B /Date 2024/05/15 4 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /NLRJL / A Panel

200

166

%M@ / Front side

B /A2 )L / B Panel

B~k / Max dim. 192 £ 0.5

3@ / Front side

A3~k / Max dim. 158 £ 0.5

fREES—HA

Surface protective film side

{25 — Mol

Surface protective film side

15

Z @ / Back side

2 / Back side

a4/ Title
TAKACHI| X2 hFERIE ISR () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:2
iR X FipN R—/Page
H177 — W250 1ERk B /Date 2024/05/15 5 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 290 4-24.5 9

149.4
130

REES—MAY
Surface protective film side

Buhtix / Max dim. 113+0.3

H#~ti% / Max dim. 203+0.5

M@ / Front side ZEm / Back side

mn4/Title
. A .
TAKACHI| HASHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
=0 = Te : RE/Scale
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:25
thiR E3 B4 —
W250 - D160 1ERk B /Date 2022/11/16 6 7/ 7
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4
220

4-R14.7 191.4 4-24 5 2

™
o oS S ¢ e
+H
™
£
< < ©
g 8 3 3
— A — s i
~ REL—HMAY
M L .
:|: Surface protective film side
5 o) :I'§ Vo) ~
<& < _Iqt (o4 <
4-M4
H#~ti% / Max dim. 203+0.5
R / Front side B / Back side

a4/ Title
HRRAANFERTE T O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/?(:l;
iR £ FHt R—/Page
W250 - D160 {ER B /Date 2022/11/16 7 /77
AREOEFEEIIHARITINFEMIEICIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	AU177-25-16.pdf
	AU177-25-16 Model (1).pdf
	AU177-25-16
	
	Sheets and Views
	Model


	
	Sheets and Views
	Model





